E1ata- RTDAZEAIAE - 715

Instruments Inc.

B -
P oH#4€E4ANERKISEE  MER
EEEREZENMmU—EEIEEZREN -

S EET RS EILRR — ik
AeBEERAENESE > WREL . i

REAMERR > Bl E—RERRHERE

fth#4 44 AY5E - T FRAE AR AY - b

B A ErtEmEEREEERENEE T
HMOBEL > MEBBIASEHNR—EE B :
NRERERED  EETA RS SE
IR (TR B TR AR REES

BT A R R AR -

AUREFRRE

ERREES | R | EREE®E | ARSmEe
iz L | -200~+250°C| #@#&=
Seprclac M | -50~+350°C | —MRME
BRA H 0~+600°C GRS
Mg JIS C 1606 DIN 43760 IEC PUB 751
&4 (|ALL) i BHB|E(CCQ) R BHB|E(CQ) o BHB|E(CCQ)
A +(0.15+0.002Itl) A +(0.15+0.002Itl) A +(0.15+0.002Itl)
Pt 1000 B +(0.3+0.005ltl) B +(0.3+0.005ltl) B +(0.3+0.005ltl)
(R100/R0=1.3850) | 1/,B | /5[ £(0.3+0.005Itl)] | /5B | Y/5 [ £(0.3+0.005Itl) ] | /3B | Y/5 [ £(0.3+0.005Itl) ]
1/10B | Y10 [ £(0.3+0.005Itl) ] | /10B | /10 [ £(0.3+0.005Itl) ] | */10B | /10 [ £(0.3+0.005Itl) ]

B STEmpSIRAREMEES (AEARERRES)
EREAEEREZEHREEED  AREMRREEEERNEZRRSEENEBBREMUEETRE -
EEMFEAREEENFHREMNSEEmE(EUESREmMIRBEIMENFERMENES
fERYEAR) ; MEEMNREEER - BRNBERBEENREBEERD - EAFSEMNETE -
HEBEHKAD3.2 - 04.8 - @6.4mm TJfiHEE -

AEwE

Sk / RENE
a7 ' T
e o
EEWE(ER)

PO A B IR BT PR A PR A T B555:02-2826-2752 ; {=#a:info@platoinstrument.com
A N
B5:02-2823-3499 ; #uL:http://platoinstrument.com




Plato®

Instruments Inc.

RTD# & &

Sz

Pt100(JIS C-1604)EHE{E :

Temp(°C) | -100 -0 Temp(°C) 0 100 200 300 400 500 600 | Temp(°C)
P 59.57 [ 100,00 o 100,00 | 139.16 | 177.13 | 21393 | 249.56 | 28402 31738|
413 | 398 397 | 385 | 373 | 361 | 350 | 338 | 3.26
10 554 | 96.02 1o | 1039714301 180.86| 217.54 | 25306 | 28740| 32054 1,
415 | 400 306 | 384 | 372 | 361 | 349 | 337 | 3.24
S0 | 5129 | 9202 50 | 10793 14685 184,58 | 221.15 | 25655 | 290.77| 323.78| o5
418 | 401 395 | 382 | 371 | 359 | 347 | 335 | 3.24
4711 | 88.01 11188 | 150.67 | 188.20 | 224.74 | 260.02 | 294.12
-30 420 | 4.02 30 393 | 382 | 370 | 358 | 347 | 335 |32702| 30
a0 | 4291 [ 8399 40 | 1I581| 15449 | 19199 22832 26349 29747 20
423 | 403 392 | 380 | 368 | 357 | 345 | 333
5o | 3868 | 799 co | 11973 | 15829 19567 23189 | 26694 | 30080| _ -
426 | 405 391 | 379 | 368 | 3.56 | 344 | 3.32
c0 | 3442 [ 7591 co | 12364| 16208(199.35 | 23545 27033 | 304.12| o
430 | 4.06 300 | 378 | 366 | 354 | 342 | 331
20 | 3012|7185 Zo | 127.54| 165.86| 203,01 23899 | 273.80| 30743 20
432 | 408 388 | 377 | 365 | 354 | 342 | 3.29
g0 | 2580 | 67.77 g0 | 13142 169.63| 206,66 24253 | 277.22| 310.72| 20
434 | 4.09 388 | 375 | 364 | 352 | 341 | 3.29
o0 | 2146 | 6368 90 | 13530 173.38(210.30| 24605 | 280.63 | 31401| ”
432 | 411 386 | 375 | 363 | 351 | 339 | 327
100 | 1714 | 5957 | 100 | 139.16|177.13 | 213.93 | 24956 | 284.02 | 317.28 | - 100
Pt100(JIS C-1604)EPHEE :
°C (°F) 0 -10 -20 -30 -40 -50 -60 -70 -80 -90 -100
-100 (-148) | 60.25 | 59.19 | 52.11 | 48.00 | 43.87 | 39.71 | 35.53 | 31.32| 27.08 | 22.80 | 18.49
0 (32) |100.00| 96.09 | 92.16 | 88.22 | 84.27 | 80.31 | 76.33 | 72.33 | 68.33 | 64.30 | 60.25
°C (°F) 0 10 20 30 40 50 60 70 80 90 100
0 (32) |100.00/103.90| 107.8 | 111.7 | 115.5|119.40| 123.2| 127.1 | 130.9 {134.70{138.50
100 (212) |138.50| 142.3 | 146.1 | 149.8 | 153.6 | 157.3| 161 | 167.8| 168.5| 172.2| 175.8
200 (392) |175.84| 179.5| 183.2 | 186.8| 190.5| 194.1 | 197.7| 201.3 | 204.9 | 208.5 | 212
300 | (572) | 212 |215.6]219.1|222.7|226.2 | 229.7 | 233.2| 236.7 | 240.1| 243.6 | 247
400 (752) 247 | 250.5|253.90| 257.3 | 260.7 | 264.1 | 267.5| 2709 | 274.2 | 277.6 |280.90
500 (932) [280.90| 284.2 | 287.5| 290.8 | 294.1 | 297.4 | 300.7 | 303.9| 307.2 | 310.4 | 313.6
600 (1112) | 313.6 {316.80] 320 | 323.2|326.4| 329.5| 332.7 | 335.8| 338.9| 342 | 345.1
700 (1292) | 345.1 | 348.2 |1351.30| 354.4 | 357.4 | 360.5 |363.50| 366.5 | 369.5 | 372.5 | 375.5
800 (1472) | 375.5| 378.5 | 381.5 |384.40| 387.3 | 390.3 - - - - -

DR R RIEREARAT

B555:02-2826-2752 ; {=#a:info@platoinstrument.com

B5:02-2823-3499 ; #uL:http://platoinstrument.com




Plato®

RTDA;ZEMGE - R5LARZE 25

Instruments Inc.
B R51-EFRH

M R52- AT
B R53 - 1R#%EH
B R54 - HIIRT

M

T

BB FFI
ERIE S
%5 - TYPE - #HR - EF - EERE - EEM - 'R -gRmm- W& - &M - HLKGFEE - ME
1[RS1 |- 1 [Jis PT100(B) {1Tma]{nm[rE@H |{1]= [1[me=]{p[320 |{os[s0 |{1[im |{1]pvc |-[1[m= |-[4ss304
2 [Rs2 | [ 2 |DIN PT100(B) 2 |w@| [ cp [apE@mD | |2|w= , |maw| [E[aop | [10100 | [2[om | [2]m# | | 2[ma@mz| | 6][ss316
3[Rs3 | | 3 |1IS PT100(A) 1 [1/420UNC | | 3 [mmEE @%) | [G[sop | [15]150 | [3[3m | |3 |@mae| | 3 [@mme| | L [ss316L
4|R54 | [ 4 |DINPT100(A) M1 [M6x1.0 o |P3ERE H|6oD | [20[200 |[4[am | [o|=f | [4|&F HES
+IEE
5 |DIN PT100(1/38) M2 [M8x1.25 oTouE I [64D s | |5 ]5M NET F |smmaE
6 [DIN PT100(1/108) M3 [M10x 15 e J[80D Ex | | o=t NET
7 |IEC PT100(B) M4 [M12x 1.5 6 2125 K|96D | || #E
8 [IEC PT100(A) C2 |5/16"18UNC (E)HIR M|12.7D e
_ S |o125 0
o |Eft F1 |5/16"24UNF (myHE o [Hft: mm)
P2 |1/4"PT g |915
i3
P3 [3/8"PT (1R
P4 |1/2°PT
P5 |3/4°PT
NI [1/2'NPT
IELE;
o |Eft
Model :| 51| TYPE|-| 451 |-| &5 |-| miee |-| &k |-| 8@ |-| 88|t || il | - 715 |
2 - 2 -1 -P3 - 2 - 1 - E -10- 2 - 1 - 3 - 4

DR R RIEREARAT

B555:02-2826-2752 ; {=#a:info@platoinstrument.com
B8 H:02-2823-3499 ; #4314 http://platoinstrument.com



Plato®

RTDA;Z EMGE - R67IZARZ 251

Instruments Inc.
B R6l-ESFT M R65 - BENERE
B R62-#AT M R66 - FERIKT

M R63 -
B R64 -

BEF M R67 - 2RE
=80 I R68 - DINIGF&

TS
e ol

L1

KBS-R62

e T 2

=+ DIN-R68

Aeh

=
$EE JFI .
ERIEH
&5 - TYPE - #B - #ER= BF - A - BEHEH B -gRmm- ME - (2373
1 [R61 || 1 [JIS PT100(B) - 1(=@|-| A[KNC || NM|p&@EEF) || 4K [1/2" 10K || 1 [EeE D(32D | 05]50 4|ss304 || A|95EE
2|R62 | | 2 [DIN PT100(B) 2 |ea| | B|KSC P2 (1/4"PT 6K [3/4" 10K , e E [4.0D 10{100 6 |SS316 B|127E%
3|R63 | | 3 [J1S PT100(A) 3|=@| | clks P3 (3/8"PT 8K 1" 10K (55%) G [5.0D 15(150 L [ss316L | | C |Fuus+smae
4 [R64 | | 4 |DIN PT100(A) D (LS P4 (1/2"PT 4A |1/2" 150# H [6.0D 20200 NES S | =ERRE
5[R65 | | 5 [DIN PT100(1/3B) E |KI PS5 (3/4"PT 6A |3/4" 150# | [6.4D s | LA|BRE L |t gies
6 |R66 | | 6 DIN PT100(1/10B) FlTN N1 [1/2"NPT | | 8A [1" 150# J [8.0D (EE | | o|Hft: O | &t
7 [R67 | | 7 |IEC PT100(B) G|TS N2 |3/4"NPT F /B85 K |9.6D o| #E
8 |R68 | | 8 [IEC PT100(A) H [KF SM [BEF o |t M|12.7D *;fﬁ
4
PIET I [KD UM [B<F O | &ttt mm)
J [BUZ o |Hfth
K |xDA
L [xps
M|DIN
O | &t
Model: %5 |-| TYPE |-| @8I |-| e |-| &F/amW |-| &k |- &€ |-| &8 |- #8 |- 8%
2 - 2 - 2 - K - P3 - 1 - G - 10 - 4 - C

DR R RIEREARAT

B555:02-2826-2752 ; {=#a:info@platoinstrument.com

B8 H:02-2823-3499 ; #4314 http://platoinstrument.com



